

OMUVA SNEHIRE CRODWIN

7/10/2018

1612NG02(08A)

COMPUTER SCIENCE ENGINEERING

ENEE381

Solution to Assignment Questions

$$\frac{d^2x}{dt^2} + 5\frac{dx}{dt} + 6x = \cos t$$

$$m^2 + 5m + 6 = 0$$

$$m^2 + 3m + 2m + 6 = 0$$

$$m(m+3) + 2(m+3) = 0$$

$$(m+2)(m+3) = 0$$

$$m_1 = -2, m_2 = -3$$

$$C-I \Rightarrow x = Ae^{-2t} + Be^{-3t}$$

$$P-I \Rightarrow x = C \cos t + D \sin t$$

$$\frac{dx}{dt} = -C \sin t + D \cos t$$

$$\frac{d^2x}{dt^2} = -C \cos t - D \sin t$$

$$\Rightarrow -C \cos t - D \sin t + 5(-C \sin t + D \cos t) + 6(C \cos t - D \sin t) = \cos t$$

$$-C \cos t - D \sin t - 5C \sin t + 5D \cos t + 6C \cos t + 6D \sin t = \cos t$$

$$-5C \cos t + 5D \cos t + 5D \sin t - 5C \sin t = \cos t$$

$$5C \cos t + 5D \cos t - 5C \sin t + 5D \sin t = \cos t$$

$$\cos t (5C + 5D) - \sin t (5C - 5D) = \cos t$$

Comparing Coefficients

$$5C + 5D = 1 \quad \text{--- (i)}$$

$$-5C + 5D = 0 \quad \text{--- (ii)}$$

$$10D = 1$$

$$\therefore D = \frac{1}{10}$$

W

Sub D = $\frac{1}{10}$ into (i)

$$5C + 5\left(\frac{1}{10}\right) = 1$$

$$5C + \frac{1}{2} = 1$$

$$5C = \frac{1}{2}$$

$$\therefore C = \frac{1}{10}$$

$$\Rightarrow P.I. = \frac{1}{10} \cdot \cos t + \frac{1}{10} \sin t$$

$$G.S. = C.F. + P.I.$$

$$\therefore G.S. \Rightarrow x = Ae^{-2t} + Be^{-3t} + \frac{1}{10} (\cos t + \sin t)$$

when $t=0$, $x=0.1$ and $\frac{dx}{dt} = 0$

$$\therefore x = Ae^{-2t} + Be^{-3t} + \frac{1}{10} (\cos t + \sin t)$$

$$0.1 = Ae^{-2(0)} + Be^{-3(0)} + \frac{1}{10} (\cos(0) + \sin(0))$$

$$\frac{1}{10} = A + B + \frac{1}{10}$$

$$\Rightarrow A + B = 0$$

Differentiating the General Solution

$$\frac{dx}{dt} = -2Ae^{-2t} - 3Be^{-3t} - \frac{1}{10} (\sin t + \cos t)$$

$$\text{when } t=0, \frac{dx}{dt} = 0$$

$$\Rightarrow 0 = -2Ae^{-2t} - 3Be^{-3t} - \frac{1}{\omega} (-\sin 2t + \cos t)$$

$$0 = -2A - 3B - \frac{1}{\omega}$$

$$\Rightarrow 2A + 3B = -\frac{1}{\omega}$$

$$A + \frac{3}{2}B = -\frac{1}{2\omega}$$

$$\Rightarrow A - B = 0 \quad \text{--- (i)}$$

$$-A + \frac{3}{2}B = -\frac{1}{2\omega} \quad \text{--- (ii)}$$

$$B - 3B = 1$$

$$\frac{-B}{2} = \frac{1}{2\omega}$$

$$B = -\frac{1}{\omega}$$

sub $B = -\frac{1}{\omega}$ into eqn (i)

$$A + \frac{1}{\omega} = 0$$

$$A = -\frac{1}{\omega}$$

$$\therefore P.S \Rightarrow x = \frac{1}{\omega} e^{-2t} - \frac{1}{\omega} e^{-3t} + \frac{1}{\omega} (\cos t + \sin t)$$

$$x = \frac{1}{\omega} \left[e^{-2t} - e^{-3t} + \cos t + \sin t \right]$$

(ii) $x = K \sin(t + \alpha)$

To solve the steady-state solution

$$x = \frac{1}{\omega} \left((e^{-2t} + e^{-3t}) + (\cos t + \sin t) \right)$$

Transient part
of equation

Steady state part
of the equation

Using the steady state part of equation

$$x = \frac{1}{\omega} (\cos t + \sin t)$$

Note: $dx/dt = 0$ for steady state

$$dx/dt = \frac{1}{\omega} (-\sin t + \cos t) = 0$$

$$-\sin t + \cos t = 0$$

$$\cos t = \sin t$$

$$\text{Hence: } t = 45^\circ \text{ or } \pi/4$$

$$x = \frac{1}{\omega} (\cos 45 + \sin 45)$$

General Equation: $A \cos \omega t + B \sin \omega t = K \cos(\omega t - \theta)$

$$\text{but } \cos(\omega t - \theta) = \sin(\omega t - \theta + 90^\circ)$$

$$\text{where } K = \sqrt{A^2 + B^2} = \sqrt{(1/\omega)^2 + (1/\omega)^2} = 0.14$$

Since it is in the same phase, hence $-\theta = 0^\circ$

$$\therefore x = \frac{1}{\omega} (\cos 45 + \sin 45)$$

$$x = 0.14 \sin(45 + 90^\circ)$$

$$x = 0.14 \sin(45 + 90)$$

$$x = 0.14 \sin(90 + 45)$$

In terms of the above equation, Hence

$$K = 0.14 \text{ or } \sqrt{2}/10$$

$$\alpha = 45^\circ \text{ or } \pi/4$$

$$x = 0.14 \sin(t + 45^\circ)$$